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y = -0.0775x + 56.214
R2 = 1

y = -0.0627x + 44.39
R2 = 1

-40.00

-39.00

-38.00

-37.00

-36.00

-35.00

-34.00

-33.00

-32.00

-31.00

-30.00
0.00 200.00 400.00 600.00 800.00 1000.00 1200.00 1400.00

El
ev

at
io

n 
(ft

)

Cross Section 5 -40 - -30

Linear (2007)

Linear (1986)

309



y = -0.0365x + 12.514
R2 = 0.8427

y = -0.014x - 6.282
R2 = 0.827

y = -0.0173x - 3.9836
R2 = 0.8732

-30.00

-29.00

-28.00

-27.00

-26.00

-25.00

-24.00

-23.00

-22.00

-21.00

-20.00
0.00 200.00 400.00 600.00 800.00 1000.00 1200.00 1400.00 1600.00

El
ev

at
io

n 
(ft

)

Cross Section 5 -30 - -20

Linear (2007)

Linear (2005)

Linear (1982)

310



y = -0.0433x + 17.113
R2 = 0.9794

y = -0.0369x + 14.773
R2 = 0.9757

y = -0.0969x + 85.142
R2 = 0.9995

y = -0.0456x + 26.906
R2 = 0.9888

y = -0.0156x + 3.9523
R2 = 0.9436

-20.00

-19.00

-18.00

-17.00

-16.00

-15.00

-14.00

-13.00

-12.00

-11.00

-10.00
0.00 200.00 400.00 600.00 800.00 1000.00 1200.00 1400.00 1600.00

El
ev

at
io

n 
(ft

)

Cross Section 5 -20 - -10

Linear (2007)

Linear (2005)

Linear (1986)

Linear (1982)

Linear (1976)

311



y = -0.0373x + 13.309
R2 = 0.9925

y = -0.0369x + 14.773
R2 = 0.9757

y = -0.0292x + 18.902
R2 = 0.9911

y = -0.0311x + 15.868
R2 = 0.9441

y = -0.0074x - 1.3496
R2 = 0.7111

-10.00

-9.00

-8.00

-7.00

-6.00

-5.00

-4.00

-3.00

-2.00

-1.00

0.00
0.00 200.00 400.00 600.00 800.00 1000.00 1200.00

El
ev

at
io

n 
(ft

)

Cross Section 5 -10 - 0

Linear (2007)

Linear (2005)

Linear (1986)

Linear (1982)

Linear (1976)

312



y = -0.019x + 7.3178
R2 = 0.9651

y = -0.0068x + 4.5505
R2 = 0.355

y = -0.0056x + 5.7025
R2 = 0.4941

y = -0.0269x + 14.448
R2 = 0.9379

0.00

1.00

2.00

3.00

4.00

5.00

6.00

7.00

8.00

9.00

10.00
0.00 100.00 200.00 300.00 400.00 500.00 600.00 700.00

El
ev

at
io

n 
(ft

)

Cross Section 5 0 - 10

Linear (2007)

Linear (2005)

Linear (1986)

Linear (1982)

313



-40.00

-35.00

-30.00

-25.00

-20.00

-15.00

-10.00

-5.00

0.00

5.00

10.00

15.00

0.00 200.00 400.00 600.00 800.00 1000.00 1200.00 1400.00 1600.00 1800.00 2000.00

El
ev

at
io

n 
(ft

)

Cross Section 6

2007

2005

1986

1982

1976

314



y = -0.0647x + 54.29
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y = -0.0616x + 53.546
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y = -0.0836x + 67.175
R² = 0.9878
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y = -0.0299x + 7.8542
R² = 1
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y = 0.0522x - 64.588
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y = 0.0312x - 54.619
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y = 0.0736x - 45.905
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y = 0.0299x - 53.199
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y = 0.0618x - 84.322
R² = 0.7418

y = 0.0438x - 58.418
R² = 0.7664

y = 0.0076x - 4.7588
R² = 0.5014

y = 0.0219x - 18.102
R² = 0.8525

y = 0.0141x - 13.567
R² = 0.7345

0.00

1.00

2.00

3.00

4.00

5.00

6.00

7.00

8.00

9.00

10.00

0.00 200.00 400.00 600.00 800.00 1000.00 1200.00 1400.00 1600.00

El
ev

at
io

n 
(ft

)

Slope 0 - 10

Linear (2007)

Linear (2005)

Linear (1986)

Linear (1982)

Linear (1976)

565



-50.00

-40.00

-30.00

-20.00

-10.00

0.00

10.00

20.00

0.00 200.00 400.00 600.00 800.00 1000.00 1200.00 1400.00 1600.00 1800.00

El
ev

at
io

n 
(ft

)

Cross Section 9

2007

2005

1986

1982

1976

566
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y = 0.0582x - 75.697
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y = 0.2133x - 240.44
R² = 0.9975
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y = 0.1596x - 197.49
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y = 0.3388x - 433.5
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y = 0.0975x - 121.8
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y = 0.0459x - 57.834
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y = 0.0201x - 40.22
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y = 0.0109x - 31.218
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